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F—HL—TEEA-EH-BERE 477,144 x 1R x 1007108 = 441,300
FERARSHFR - ZHRE §5276206 x 1Xx 100/108 = 51,181,673
BH1o)—=29 71,300 x 1K x 1007108 = 66019
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EHR ABESENAERRA 318563 x 1®x 100/108 = 283120

b 553 4 FLEBER 175000 x 1Xx 1007168 = 162,033
EZET—SHAH 3201% x 1Xx 1 = 320,150

TRIRRAAER PHRTHS 7240835 x 1R x 1 = 72403835

&R SARGREAs 11098 x 1Xx 100/108 = 10275

iR EREEHSY 0801,185 x 1 x 100/108 = 83389287

nisH RESHERANS 6B36607 x 1®Xx 100/108 = 5330182

HEEER PRRETENKSS 7684005 x 1¥x i = 7684005

agng BAFMENISNFERES 20400 x 1R x 1 = 20,400

XHFEH NEZSXLFARSE 5500 x 11X x 100/108 = 5093

ToEFER BEasyveLs 7000 x 1kx 100103 = 6482

ANERH ERERYBRRESES 593420 x 1&x 1 = 593,420

=REH 3 1 14 44183 x 1®x 100/108 = 40913

TR PACSL/ATLETRES 9085780 x 1Xx 1007108 = 8,422,000

HER RAESELDRT 218200 x 1% x 100/108 = 202038

SRERREE NTTHRmH 8484 x 1L x 1007108 = 7856

YIr9xT7 EEBERVIMTE 3036600 x 1Xx 1007108 = 3845000

i1 207915690 i 7432522347




FRSEAEARREARTERTSRIZRINANR

TRAXBE 345245402|
EER (AEBEINETHEANEBR ZESR LY 1444% x 1Xx 100108 = 133750
IREBE I (HAHRASESHR) XESHET S0y 3240 x  1Xx 100/108 = 3000
RESTEIORERBI_EIFEZRRY 2402285 x 1 x 1007108 = 23,141,537
BREBF IEBER(T-SERE—) 60480 x 1Xx 1007108 = 56,000
REBE IEBEK(SERAB2EE) 35195253 x 1 x 100/108 = 33514128
TREBTIZEBRER(LRY) 3845105 x 1 x 100/108 = 35612923
REBF I EREHR(SASEDRE) 21715512 x 15X x 100/108 = 25682512
IARBE | REZRT —SERE—R 3240 x 1K x 100/108 = 3,000
AEBE |SESHEL®E 1027552 x 1¥x 100/108 = 951,433
ARBE IREFRENERASRE 1080020 x 1Xx 100/1083 = 931,500
FNAV S AVATARTT-CA 380684 x 1Xx 1000108 = 350,800
MEARBEIBRENGS (HH-£3) 201835 x 1Xx 100/108 = 279477
IRARBESEBASON - K2RBER 4262889 x 1Xx 100/108 = 3847120
SEBEXHSE 2172788 x 1Xx 100/108 = 2011821
AARBER 7294384 x 1Hx 100/108 = 6,754,615
SHRBRBRATLRTER 27477053 x 1% x 100/108 = 25442364
AnpakaExHs 95953809 x 1Rx 100/108 = 9216450
EFRBRARR 908500 x 1R x 100/108 = §41,204
AENBSBRERERRESHE 1885788 x 1Xx 100/108 = 1,746,100
MERRBEZHS 37353895 x 1RXx 1007103 = 34,586,940
MTERBREGE IS 18432041 x 11X x 100/108 = 17.122.261
ENZEWOREDISAAERTIHT I ANST | RRSE 81430415 x 1M x 100/108 = 75454083
39750243 RETHORNBETITHIZIARBR IZEER 18101842 x 1 x 100/108 = 15,761,058
BRIMER SBEBEICRIIEASET 1620093 x 1Xx 100/108 = 1500820
1.3 XL EMEARR 302725 x 1Xx 100/108 = 280,301
XLFAH SATEHRERBSRAERE: ALEXTH) 540 x 1®Xx 100/108 = 500
WER RAESSOR 10000 x 1¥x 1007108 = 9260
ARER ARBRAEAKES 63653 x 1Xx 1007103 = 63,568
HNEE R BERERNFLTNES 39200 x 1R x 1 = 33,200
EEEH EEBENGERES 52184 x 1 x 100/108 = 43300
nias RBSAERHS 152152 x 1K x 100/108 = 140882
BEH BRESHES 30850715 x 1Xx 1007108 = 23380292
BER 194 FI399RURE—R 147562 x 1 x 100/108 = 136613
13853 SERBaMERNS 61440 x 1Xx 1 = 61,440

} H 372855972 it 345245402/

A ANHEE T SALER| 123.108510]
SRR BER7-M-REZR 18072812 x 1K x 1007108 = 18,734,087
ERANIVLMERECGRE 690422 x 1Xx 1007108 = 639,280
FERSAOBRERE 30291071 x 1FEx 1004108 = 28,047,288
RENBRSS-AN-RELS 859243 x 1R x 1007108 = 795,600
SARRARRSTFHEREAERE 9610265 x 1xXx 100/108 = 8,893,334
A -BIIEEREXFRR 2363031 x 1Xx 100/108 = 2193548
EEREEESR 4395600 x 1k x 100/108 = 4070000
CIANREEEERRAUVHEAEREIROBERE 619620 x 1Xx 100/108 = 574,000
HASEBRERSPOFEHB VAT LERSE 2180738 x 1 x 100/108 = 2018200
WS R ATAERLV - EERSEREER 14236400 x 1Xx 100/108 = 13,830,000
HEER EEEn-Rsuse 73440 x 1Xx 100/108 = 68,000
SERRR EXRERR 1235425 x 1% x 100/108 = 1143913
HeR F2EBNR 146000 x 1M x 1007108 = 135,186
BENMER REXHSHNNEER 953400 x IR x 1 = 953,400
ot 34 HAZFARAL 170120 x 1xXx 1007108 = 151575
ABRERS BERARAS 295260 x 1Xx 1007108 = 273389
34 EREFHES 45581702 x 1 x 100/108 = 42571555

H 132880.913 g

123.108510 ;_/




FROERNRAARHRNERESRERZIERNR

SEESRE 15,693,826
=R ¥ ERT -3 -%R 2120822 x  1X 1007108 = 1972150
BRERSER-RAZE 7,7172883 x 1IX 1007108 = 7.197,188
BERST-AF-EUNEE 65124 x 12 100108 §0.300
YA -nT IR EAER R 753151 x 1% 1007108 701,282
AV RSN ATLEN 172800 x 12X 1007108 160,000
BREER RECSCEDILRS 507600 x 1I®X 1007108 = 470,000
EARRR RENERR 33150 x 1X 1007108 = 30635
REH@ERLKA) HEMBESS2SAERE (EFENETB/FTRLS) 7020 x 1#£x 1 = 7120
nEsH SEMRERSSSHERSE 45208 x 1% 1007108 = 41,860
TEESHE BEEANK 1026 x 1% x 100/108 = 350
RN sMREHes 5297851 x 12 1007108 = 4805238
AEER RERAES 10562 x 12 100/108 = 9,780
w2 BAUFSooRURE—R 147542 x 1Xx 100/108 = 136613
it 16,948 825 14 |5.ssaml,‘/ 2
EEEHAS A B 10,858.331]
SHR EEARUAEREES 916380 x 11X 100/108 = 843500
HRANER EEFRARU - BRARKEISERBR AV EEE 4962300 x 12X 1007108 = 450,000
BN R ERENENES [ TRER) 2474000 x 1% 1 2474000
EAEKR ERENEARR 1900420 x 1%  100/108 = 1.759.649
NEER ERAMEERE(8) 56,120 x 1£ 1007108 = 51963
EEARNIERR(TER) 3722985 x 1% 1 3722985
HAESR EEARSWARSS 152711 x 1% 100/108 = 14140
TEMeH BREXHH(8%) 6707 x 1x 1007108 = 8211
O ERAREARR(8%] 1230641 x 1% 1007108 = 1,130,483
ERIRNAER(TER] 331460 x 1% 1 381,480
it 11.200.784 H 10858391 ¥ |
TEF [ 9.432,125]
£33 4 RxgrRERmess) 2915459 x 12 100/108 = 2693500
EER RXERHERAFER] 6732625 x 12 1 8732625
H 9,643,024 it 9432125 ¥|
BALR | 1.024.040,180]
BERERASR 343997035 x (F-4 1 = 343997935
REERAGR EDRFES 6267328 x 12 100/108 = 5803082
ZHhRAARR 432250710 x 1R 1 = 482250,710
ZRRAASR ADFH 7467338 x 1X 1007108 = 6914258
FERRRAAER 6833987 x 1 1 = 6833937
ELRERAAER ADFY 108000 x 1£ 1007103 = 100,000
ELRRRER 114787971 x 1£ 1 = 114737971
FERRMALER IDFY 5850348 x 1 100/108 = 5231204
EBZER(TER) 6000000 x (F-4 1 = 8,000,000
EBERR(ER) 56280067 x 1®  100/108 = 52120433 |-
it 1.020.653.744 o 1.024.040.180 . /1
EEXOT | 110297.745]
EBZER I-AEVS—RESHER 51912038 x 1 100/108 = 48,055,700
A ARREATIESH 16153560 x 1s£ 1007108 = 14,857,000
=R ERNRR(8%) 2942575 x 12 1007108 = 2724807
BEASRR(FER) 362740 x 13 1 S 352,740
BRESR SERMS R(8Y] 1810100 x 1% 100/108 = 1676019
BEMER(TER) 1270000 x 12 1 = 1,270,000
REH ERABHU(5N] L 863325 v+ 1R 1007105 = 636,500
EMRAFEHIsY) 22451405 x 1 1007108 = 20,788,333
SHERERH A=Y X TIENT—hA47 WeBRBI(ER 6023547 x 12 1007108 = 5577,359
BRERERH NTTHA 2623260 x 1% 100/108 = 2428945
EGEER 433045 x 1 1007108 = 451,894
=EZH REH (8] 3157779 x 1X 1007108 = 2923870
uFH 831285 x 1s£  100/108 = 815937
o, REMIRIGLLD (B3] 8080053 x 15 100/108 = 7.481,540
(FER) 138247 x 12 1 = 135247
B 118.960.947 8 110297748 A
E31288:A 2 2560.963.010 H 2553163287
O~T0hR 2443339123
—BEER T~0(FRH OH x 108 L] j185515.310 13 100/103 = 153,310,431 s
[ 53 o 2.535,649.604}, .
BARREUES IRE ME (2596,013.104M) X 8% — 207,681,049)-
it (635500A) x 5% 31,825
ES 5 = 2.504,352.478}7,






